Trace plots

Trace plots

Here, we report trace plots of parameter values by each model and dependent variable.
Each graph shows transitions of parameter values by iterations of the MCMC simulation.
The transitions were shown by each of four MCMC chains. Horizontal and vertical axis
represent iterations and parameter values, respectively. Labels in the top of each graph
indicate each parameter. Burn-in steps (i.e., first 1,000 iterations, which were discarded
when estimating posterior distributions of each parameter) were shaded in gray.

Results of each model when government effectiveness was used
as an independent variable

Model 1

Labels in the top of each graph represent types of parmeter: a 0 = a,, GE =GE, PS =
PS, and sigma_y = g,,.

Individualism

a0 GE

0.04 ,”‘ I-u |"-‘-'h“f ‘,],‘“ \I}'ib ok .‘\_L-'A ' ’L‘ A b 'lu

R Tr Ty "
51 | R L EA FYAES e -l-"JJ'L.‘n"L[w\Jl vty L e
|

| W U R T Tyl

chain

° —1
3 0 1000 2000 3000 4000 5000 0 1000 2000 3000 4000 5000 2
g PS sigma_y —3
2 4

| b il kbt vy
il .1,,,',4,»!;‘.?r.Tpn\.a'\';,-‘ﬁﬁ"}n'\l,‘H.HI 151

N
(=}

L" ek "4-‘0'-0:.'“ IRE T .J' " IIN. ‘Hl v oA N 4

B L e T T o L R BT T

0 1000 2000 3000 4000 5000 0 1000 2000 3000 4000 5000
Iteration



Conformity 1
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Conformity 3
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Model 2

Labels in the top of each graph represent types of parmeter: mu_a = u,, GE = GE, PS
= PS, a[j] = a;, sigma_a = g, sigma_y = g,,. Subscript numbers under a represent global
regions (1: Sub-Saharan Africa, 2 East Asia and Pacific, 3: Europe and Central Asia, 4:
Latin America and Caribbean, 5: Middle East and North Africa, and 6: South Asia).
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Conformity 3
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Model 3

Labels in the top of each graph represent types of parmeter: mu_a = u,, mu_GE =
Uge, mu_PS = upg, a[j] = a;, GE[j] = GE;, PS[j] = PS;, sigma_a = g,, sigma_GE = g¢,
sigma_PS = opg, and sigma_y = g,,. Subscript numbers under a, GE, and PS represent
global regions (1: Sub-Saharan Africa, 2 East Asia and Pacific, 3: Europe and Central Asia,
4: Latin America and Caribbean, 5: Middle East and North Africa, and 6: South Asia).
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Conformity 3
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Results of each model when GDP per capita was used as an
independent variable

Model 1

Labels in the top of each graph represent types of parmeter: a 0 =a,, GDP = GDP,
PS = PS, sigma_y = g,,.
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Conformity 3
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Model 2

Labels in the top of each graph represent types of parmeter: mu_a = u,, GDP = GDP,
PS = PS, a[j] = a;, sigma_a = 0, sigma_y = g,,. Subscript numbers under a represent
global regions (1: Sub-Saharan Africa, 2 East Asia and Pacific, 3: Europe and Central Asia,
4: Latin America and Caribbean, 5: Middle East and North Africa, and 6: South Asia).
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Model 3

Labels in the top of each graph represent types of parmeter: mu a = u,, mu_GDP =
Ugpp, mu_PS = ups, a[j] = a;, GDP[j] = GDP;, PS[j] = PS;, sigma_a = g,, sigma_GDP =
Ogpp, Sigma_PS = gpg, and sigma_y = ag,,. Subscript numbers under a, GDP, and PS
represent global regions (1: Sub-Saharan Africa, 2 East Asia and Pacific, 3: Europe and
Central Asia, 4: Latin America and Caribbean, 5: Middle East and North Africa, and 6:
South Asia).
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